AP  Physics Math Review 

 Using powers of ten to describe very big and very small numbers.

Remember this stuff.

10,000 = 104
1,000 = 103
100 = 102
10 = 101
1 = 100
0.1 = 10-1
0.01 = 10-2
0.001 = 10-3
0.0001 = 10-4
30,000 = 3x 10,000 = 3x104
30,000 = 30x 1000 = 30x103
30,000 = 30,000 x 1 = 30,000x100
30,000 = 3,000,000x 0.01 = 3,000,000x10-2
All of the above are correct.

They all describe 30,000


Which is correct…..?

1.
300 is 
a) 3 x 101
b) 3 x 102 
c) 3 x 103 
d) 3 x 104 
 

2.
420 is 
a) 4.2 x 101
b) 4.2 x 102 
c) 4.2 x 103 
d) 4.2 x 104 
 

3.
0.34 is 
a) 3.4 x 10-1
b) 3.4 x 10-2 
c) 3.4 x 10-3 
d) 3.4 x 10-4 
 

4.
0.00034 is 

a) 3.4 x 10-1
b) 3.4 x 10-2 
c) 3.4 x 10-3 
d) 3.4 x 10-4 
 

5.
0.000000000034 is 
a) 3.4  x 10-10
b) 3.4 x 10-11 
c) 3.4 x 10-12 
d) 3.4 x 10-13 
 

6.
49000000000000000000000000 is 

a) 4.9 x 1021
b) 4.9 x 1024 
c) 4.9 x 1025 

Adding Exponents

(4 x 103) +  (5 x 102) = 4000 + 500 = 4500

(4.3 x 104) +  (4.3 x 10-2) = 43000 + 0.043 = 43000.043

(5.3 x 103) -  (2 x 102) = 

(6.72 x 102) +  (4.3 x 10-1) = 

Multiplying Exponents

(4 x 103) x  (5 x 102) = 4 x 5 x 103 x 102  = 20 x 105 = 2 x 106 = 0.2 x 107
(4.3 x 104) x (4.3 x 10-2) = 4.3 x 4.3 x 104 x 10-2  = 18.99 x 102
(5.3 x 103) x  (2 x 102) = 

(6.72 x 102) x  (4.3 x 10-1) = 

Dividing Exponents

(4 x 103) (  (5 x 102) = (4 ( 5) x (103 ( 102)  = 20 x 105 = 0.8 x 101 = 8

(4.3 x 104) ( (4.3 x 10-2) = (4.3 ( 4.3) x (104 ( 10-2)  = 1 x 106
(5.3 x 103) (  (2 x 102) = 

(5.3 x 103) x  (2 x 102) = 

Entering very big and very small numbers into your calculator.

Say this… “ …times ten to the…”.

Pressing 

on your calculator is the equivalent of saying “ times ten to the”.

So, how do you enter 4 x 105 into your calculator.

You would say this in the following way “ 4 times ten to the 5”.

You would enter into your calculator the following….


Enter these problems into your calculator…

(3.9 x 107) x (2 x 102)


Your answer should be….?
(3.9 x 10-7) x (2 x 102)

Your answer should be….?
(-3.9 x 10-7) x (2 x 102)


Your answer should be….?
Use your calculator to answer the following….

(3 x 103) x (2 x 102) =  

(3 x 103) + (2 x 10-2) =  

(-3 x 10-3) / (2 x 102) =  

(3 x 103) - (2 x 102) =  

(3 x 103) x (2 x 10-2) =

(-3 x 10-3) x (2 x 102) =  
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These two lines are parallel





On both pictures, write down the value of every angle.





600





This line is tangent to the circle








This line is a diameter.








